Chapter 16 Financial Assets and Liabilities

Answer 1
The directors’ suggestion that the convertible loan should be recorded as a liability of the full $5 million is incorrect. The reason why a similar loan without the option to convert to equity shares (such that it must be redeemed by cash only) carries a higher interest rate is because of the value of the equity option that is contained within the issue proceeds of the $5 million. If the company performs well over the period of the loan, the value of its equity shares should rise and thus it would (probably) be beneficial for the loan note holders to opt for the equity share alternative. HKAS 32 and 39 dealing with financial instruments require the value of the option is to be treated as equity rather than debt. The calculation of value of the equity is as follows:
	
	$000

	PV of the principal to be repaid: $5m x 0.75
	3,750

	PV of interest: $0.4m x 2.49 (0.91 + 0.83 + 0.75)
	996

	Debt element
	4,746

	Equity element
	254

	Proceeds of issue
	5,000


	Year
	Opening
	Finance (10%)
	Paid
	Closing

	
	$000
	$000
	$000
	$000

	2006
	4,746
	475
	(400)
	4,821


Income statement (extract) for the year ended 31 March 2006

	
	$000

	Finance cost
	475


Statement of financial position (extract) as at 31 March 2006

	Equity
	$000

	Option to convert to equity (8% convertible loan)
	254

	
	

	Non-current liabilities
	

	8% convertible loan
	4,821


Answer 2
HKAS 32 Financial instruments: presentation requires the issuer of a hybrid or compound instrument of this nature – containing elements that are characteristic of both debt and equity – to separate out the components of the instrument and classify them separately. Fab Factors are thus wrong in their advice that such instruments should be recorded and shown as debt.
The proceeds of issue should be split between the amounts attributable to the conversion rights, which are classed as equity, and the remainder which must be classed as a liability. Although there are several methods that might be used, the question only gives sufficient information to allow the amounts of debt liability to be calculated, leaving the equity element as the residual.
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Answer 3
Accounting correctly for the convertible loan note in accordance with HKAS 32 Financial Instruments: Presentation and HKAS 39 Financial Instruments: Recognition and Measurement would mean that virtually all the financial assistant’s observations are incorrect. The convertible loan note is a compound financial instrument containing a (largely) debt component and an equity component – the value of the option to receive equity shares. These components must be calculated using the residual equity method and appropriately classified (as debt and equity) on the statement of financial position. As some of the proceeds of the instrument will be equity, the gearing will not be quite as high as if a non-convertible loan was issued, but gearing will be increased. However, if the loan note is converted to equity in March 2010, gearing will be reduced. The interest rate that would be applicable to a non-convertible loan (8%) is representative of the true finance cost and should be applied to the carrying amount of the debt to calculate the finance cost to be charged to the income statement thus giving a much higher charge than the assistant believes.
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The interest cost in the income statement should be $693,920 (8,674 x 8%), requiring an accrual of $393,920 (693·92 – 300 i.e. 10,000 x 3%). This accrual should be added to the carrying value of the debt.
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